% F L = T & B W Tt &
fREAR A V== FHF—32Wx 20T (v 11— 5 —2) 12 6190
HEBR > | 2P1E30AF20AT 100V RIT 6350
avey b & FHE2P 125V 15A 25 2675
avevt €= B 2P 125V 15A ZRE 2343
67190 YTIAAY F S 1P 300V 10A BERE HEE (EEHKTIE)
0] & 70%377 Y73 TRREIBAA Y £ E B 2RIF¥EY +=0.35
X H ARt = MR : AF LY 74 —L1=25
5600 BmE/M R BA Nz RIVERIRt = 0.27W BT : AF LY T 1 —L1=25
z Ty Ik
ADO BFAIAKT AN /7L THEM
%70(\) & BKSEEY t=12 T07<4Y MEES
B (FEOMTE) o FOR (FHID | FHF—32Wx 2T x 6% (1Y =7 —R)
WETL -1 30A% 2
avey b 20X 6
590 2550 2350 900 SMRBIAD 25 (DEBA3IZAH)
B - wER 2& CEff & 20cm)
pES 3500kg
4 1720 _
EE MCB 2P1E 30AF 20AT 100V
Lé2w 100V % /Ut N
Jvtuk
FyFrhTHEL o) %%lez
~o — : (@)
e o |[EC) : o
&~ = 3 ELB
2P (E
(p ﬁ> @ ﬁ> Tonn / /
m
@ q @ [ Wi T IR 2L ? ? ?
E=s—— =s—— 6% B8 Q) or-ugir. w2 cERQ) O7-1EE IS .
{5 AR 2 TLEMmONE A,
E2) 15
e Vi
.
= 5 TS
= =
2= L et =2 = ©
L fioal Lo H
= . =
EN
P
N
>
J
i’ s [E— D E—
~
~
= 5 S
? \‘ \‘ NG '
J\ T
oo jos]
=
2246 1Dk, 2246
4596
()
[l \ F187—0035s= =%/ \FH/IIFEIT 4— 14— 12 =E: RE B34 Y% NENO
» . - = E85 _, [2aE _ [B%B _, -
- lecubelk=\= %t
BE 042-312-3905 =KD =ED] Eﬁ5 5 = 001
EWEEHT] EEIHSATESS £308951008546 / i




5600 _
4700 - - 6350 -
590 2550 L 2350 900 B 5700 _ 650
i [ [] N
| / v
FL
G\: 7777777777777777777777777777777 I bqvpZer o0 0 -
EBE
[5][o] m‘ ‘ =1 =1 Y ‘
] — (] N
// // / /}—HODO / /HWDDO E\\\] E
GL FyFrhTEIL //
— + + ‘
RETE 7T A X
BRE ~T_54 0w Tewiz—géfgiﬁjﬁ%ﬁmmwﬁm4—w4—w2 EES . BN . TS L EilEED TEm MEN O
I\ =
iz - N B f B f B N
. §£ﬁ§ﬂ3£§§522§9§25%3 o895 1008546 {TL {T {TL 5/5 /%{EE OO2




